4 2 <7 2 1

CLOPAY / IDEAL ~ HOLMES SHEET: REVISIONS
sir 4 CrXi7 ./ -- / 27GA 1.757 THICK MINOR RIB 1 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3718 / C7X18 / -- / 27GA 1. 75" THICK FLUSH
3720 / C7X20 / 240U 7 27GA 2° THICK MINOR RIB OPTIONAL GLAZING MAY BE STANDARD (DSB OR 02 - | 08/2016 = SH REMOVED WIND SPEED TABLE.
3722 7/ cOxe2 /7 -- / 20GA 2° THICK FLUSH BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
3724 /7 C7X24 /7 244U / 24GA 2° THICK MINOR RIB GLAZING SIZE (DLO) IS 22"x9-7/8". SEE SECTION
B8-B ON SHEET 2 FOR DETAILS.
GLAZING MAY BE INSTALLED IN TOP SECTIOM (NOT
SHOWN) OR INTERMEDIATE SECTION {SHOWN).
(1) 20 GA. GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION. 16 GA. DOUBLE END STILE
BACKER PLATE ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR. —— A T—STRUTS SHOWN WITH
GLAZING IN TOP SECTION.
: & # & r
‘ & y Vi ¢ e
e ] B— - - 4R
— = . & W WL
" 7 & 7 7 7 - vew g
&3 & Wiy Lo
25 o
e (1) 4" T-STRUT PER SECTION.
O X |
as P 8 &
e
gg | \
LOCK POSITION (BOTH SIDES).
= - \T—STRUT_ ; L‘—
— T A (2) LHR TOP BRACKETS USED
MAX. DOOR WIDTH = 15'-2" i AS INNER BOTTOM BRACKET.

INSIDE ELEVATIONS

#14x5/8" SHEET METAL SCREWS

#14x5/8" SHEET METAL SCREWS

war |NUMBER OF
DOOR HEIGHT *A' |'cEio o
UP TO 8-0° 4
8'-3" THRU 10°-0° 5
10°-3* THRU 12°-0* 6
12°-3" THRU 14°-0" 7
14'-3" THRU 1&'-0" B 1/4"x3/4" SELF
16°~3" THRU 18°-0* 9 TAPPING SCREWS.
14 GA._ EMD HINGES 14 GA. (MIN.) INTERMEDIATE HINGE
MEW "B" MEW "C"
SNAP LATCH ENGAGES END
ONTO WERTICAL TRACK. = .
EECEH S‘gg? E?TC[;*DSF? MANUFACTURING PRODUCT CODE
SLIDE BOLT LOCK ' C-DSIu-1D477
ENGAGES INTO > _ .
L. e VERTICAL TRACK. OUTSIDE gt | | TS LoADS: 558 BSE & “63.0 BAF PART NO.. N/A
,; EECEH Lg;:[:)lé 0.3? ——— HAMDLE. pFA LOCKGBAR Unless Stoted Otherwise | (D [: l E‘EES Da;ﬁedlgaslée?ég WINDLOAD RATING
i - RS m
S W DOOR. KEYED ENE TRack on | | |O-ERANCES oo |\ mERUSIOPAY 1 $15500 50 w6 DP3/T
HANDLE STILE. EACH SIDE 0= .03 Building Products Company Fox Mo. 513-770-4B853
:.f ' OF DOOR ﬂ-gg = f-g&g DESCRIPTION:  1-3/4" INTELLICORE DOCRS UP TO 16'2"W (SEE TABLE)

is e & . '’ . L 5 i‘

G PERELSY O R LSO SUDE B0 Ml HERES T 0000 — +.007 |DRAWN BY: SH DATE: 1/10/13 |SCALE: NTS ___ |pwe,
DESIGN ENGINEER:~ o o LoD _KEYED LOCK MTH LOCK BAR LOCKING Degrees = +1/  |CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4 [SIZE
MARK WESTERFF&ED."P.‘E.('L SMNAP LATCH LOCK OPTION. - Unless Staled Otherwise - VER: TOI
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 EMEREIONS AR i Iiotiess OWICE D TI0ABO1 — M8 :

4 | 3 A 2 1



4 5 <& 2 1

| cLOPAY / IDEAL / HOLMES SHEET: REVISIONS
L e - 2 (i e D s SR 2 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3720 / C7%20 / 240U 7/ 27GA 2° THICK MINOR RIB 02 - - - | - | SEE REWISION HISTORY ON SHEET ONE.
3722 7/ coxez / - / 20GA 2° THICK FLUSH
3724 / C7X24 / 244U 7/ 24GA 2* THICK MINDR RIB
IMPACT—RESISTANT COMNSTRUCTION: STANDARWM ASSEMBLY CONSTRUCTION:
SOLID DOORS (MO GLAZING) OR DOORS WITH OPTIONAL IMPACT—-RESISTANT GLAZING ARE OPTIONAL DSENR TEMPERED INSULATED GLAZING AVAILABLE.
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM —
FRONT FRAME AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: MR10, 9030, THE ENTIRE DOONQRSSEMBLY INSTALLED IN COMPLIANCE T L MEES e
90318, 90316, 90317, 90311, 90314, 90355) OR BAYER MAKROLON GP (VERSIONS WIND LOAD REQUIRNNENTS OF THE FLORIDA BUILDING COD IPPHATICRL - BINLLIH
: CODE BUT DOES NOWMMEET THE IMPACT RESISTANT REQUIREMENTOR WINDBORNE DEBRIS
ALSO APPROVED: SL, AR, 15), APPROVED CC1 PLASTICS IN ACCORDANCE WITH TOI/FBC FECIONS (R Cre TR 16 FEC/TON.

2606 AND APPROVED C1 PLASTICS IN ACCORDAMCE WITH FBC 2612
THE ENTIRE DOOR ASSEMELY INSTALLED IN COMPLIAMCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERMATIONAL BUILDING

CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT. SECT|ON B_B ['N _|MFJACT_RES| NT GL&E'NG OPT'ON\J
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)

PANEL r
THICKMNESS PAN HEAD

‘ Y SCREW
(10) #8-18 x 1,/2" --—=- : <—

INSULATED DOOR SECTION.

DECORATIVE FAC ADE.\

ALUMINUM FRAME.

EXTERIOR OF DOOR. SELF—TAPPING SCREWS. INsuLATED @ihss i
= THRNESS | |
N INTERIOR OF DOOR. EHS i
8 S
=~
8 OUTSIDE .
~
3 RETAINER. FRAME s
§ FRAME

(12) #8-18 x 1/2"
SELF-TAPPING SCREWS.

1/4" THICK POLYCARBONATE
GLAZING.

IMPACT—RESISTANT ASSEMBLY DETAILS STANDARD ASSEMBLY DETAILS A\
DRAWING 104801-A DRAWING 104801-B
MANUFACTURING PRODUCT CODE
C-DSIU-1D477
DESIGN LDADS: +37.0 P.SF. & —-42.0 PSF,
TEST LODADS: +55.5 P.S.F. & —-63.0 P.S.F. PART NO.: N/A
Unless Stoted Otherwise - ﬂlupay 3535 Dgll_lce“ggrée'ﬁgg WINDLOAD RATING
TOLERANCES ore |\ Tel. NG, 513-770-4800
0 = £.031 |Bulding Products Company For No. 513-770-4853 W 6 D P 3 7 T
. e —Ug = f-ﬂég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 15'2"W (SEE TABLE)
Lo - g e Z ro05  IDRAWN BY: sH DATE: 1/10/13 |SCALE: NTS ___ |owa.
DESIGN "ENGINEERg - © €~ Degrees = +1/2°  [CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 [SIZE
MARK WESTER S Cu ke nless Stale arwi
i o DENSIONS ARE & WeEs.| DWG. NO.: 104801 — A/B VER: TOI

FLORIDA P.F. #8495 NC'P.E. ¢f23832, TEXAS PE. #91513

(T e



4 k; < 2 1

CLOPAY / 1DEAL / HOLMES SHEET: REVISIONS
3717  / C7X17 / -- / 27GA 1. 79" THICK MINOR RIB 3 OF 4 : . :
3718 FCRUTE T e / 27GA 1. 75 THICK FLUSH REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTION
3720/ C7X20 / 240U 7 27GA 2° THICK MINDR RIB 02 - > = e LU RERAON TR ERERT O
3722 7/ COxe2 ¢ -- / 20GA 2" THICK FLUSH
3724 /7 C7X24 / 244U 7 240A 2° THICK MINOR RIB — = 1-3/4" THICK MIN

s

27 GA. (.016" MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV., BAKED—ON

JAMB TO SUPPORTING STRUCTURE ATTACHMENT
POLYESTER PAINTED TOP COAT APPLIED

HORIZONTAL (TOP) JAMB

[-I:NU' LOAD FROM DOOR) [ NOTES:
7 2) 1. ALL THE LCAD FROM THE DOCR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO el TH SI F ST
/f TO BOTH SIDES OF STEEL SKIN.
: r THE 2x5 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
) TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +296 LB & -336 LB. PER LINEAR
FOOT OF JAMB.
E— 3. ALL JAMB FASTEMERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A 19 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
FLUSH MOUMNTING SURFACE. - ‘ .
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/{5) #14x5/8" SHEET METAL
/| el LOADS FOR ANCHORS AMD FASTEMERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
, I B BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
—|—\/~— BRACKET.
MAX, 0.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, . —_— -
IF DESIRED OM STEEL JAMBS OR COMCRETE OR BLOCK WALLS, APPROVED FASTENERS AS [—4 e SECTIONS ARE 1-3/4" THICK (MIN.} PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY ]‘ VIEW "D EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
. i THROUGH THE AMGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 4" TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS., ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH 4-1/4" 0.062" MIN. GALY. STEEL TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE., CONTINUQUS AMGLE TRACK CAM BE AMCHORED DIRECTLY TO GROUT ]_ Eb kS| MIN' ' d PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. . ALONG THE WIDTH OF THE EXTERIOR PANELS.
i
’ —\\ s TONGUE AND GROOVE JOINTS.
. . _Ezf_' 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
! TO EMD STILES W/(4) #14x5/8" SHEET METAL AND
oty {2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")
n ¢

ﬁ_

ONE 4" T-STRUT PER SECTIOM. (SEE VIEW *D")
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4"x3/4" SELF TAPPING SCREWS,

27 GA. (L016™ MIM.) EXTERIOR STEEL

SKIN WITH G—40 MIN. GALY., BAKED—ON

L POLYESTER PAINTED TOP COAT APPLIED
o TO BOTH SIDES OF STEEL SKIN.
e

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

FASTEMER ATTACHMENT TQ SUPPORTING STRUCTURE SCHEDULES
MAXIMUM ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
N-CENTER
ST L S—-— SECTION A—A (SIDE VIEW)
BETWEEN ,|WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS " |REQUIRED?
", HOLLOW_BLOCK WAL 1 ::4" x 1-1 ::4‘ MIN. EMBED ULTRACON CONCRETE ANCHOR 5-1 ::2" 1~ 0.D.
5 [¥] LL LOCK WALL [1/4" x 1-3/4" MIN. EMBED ULTRACON COMCRETE AMNCH g9-—1/4" 17 0.0,
. [2000 PSI_MIN. CONCRETE |1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 8" 1" 0.D. MRS L I LI
A 4s/ '« . [2000 PSI MIN. CONCRETE |1/4" x 1~ MIN. EMBED TAPCON CONCRETE ANCHOR 6-3/4 1" 0.D. C-DSIu-1D477
/ e ‘rr, & PSI MIN MCR 3/8" x« 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 17" INCLUDED DESIGN LOADS: +37.0 PS.F. & —-42.0 P.S.F.
S & . » 'y 1 [4000 PSI MIN, CONCRETE | 3/8" « 1-3/4" MIN, EMBFD WEJ-IT ANKR TTE SLFEVE ANCHOR 24" INCLUDED|  TEST LOADS: +55.5 P.S.F. & —63.0 P.S.F. PART NQ.: N/A
; WL~ 7 S FRAME (SYP 0.55 1/2" x 3" REW (ASTM A307, GRADE A} 1-5/8" EMBED INTG STRUCTURE g1 LV D, Unless Stoted Otherwise | [ 8585 Duke Boulevord WINDLDAD RATING
g 15 4o 114GA STEEL (0.060° MIN.) | 1/4"-14 x 1" ITW BUILDEX TEKS SELF-DRILLING FASTEMER T-3/4" 100 TOLERAMNCES are [“upay Moson, OH 45040 USA
/ L' . - [12GA STEFL (01057 MINJ [1/4"—14 w 1~ ITW BUILDEX TEKS SELF—DRILLING FASTENER B=t/z"_|- Ob. [ 7] Tel. Mo. 513-770-4B00 \W/ 6 D |3 3 7 T
o s : 2 /8" STEEL 1/4°=14 x 1" |TW BUILDEX TEKS SELF-DRILLING FASTENER 16" 1" 0.0 .0 = £.031 |Bildng Producls Company  Fox No. 513-770-4833
i giuis 2L FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED dgg = :gég DESCRIPTIOM:  1-3/4" INTELLICORE DOORS UP TO 16°2"W (SEE TABLE)
" y S AT LEAST AS HIGH AS THE DOOR OPEMING. : = i g : :
DESIGN 'EEQGI'NE"EE-" o CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. D000 #,001 JLEAWDL BY: SH e a0 S ] PN R DWG.
Lot MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EOGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. Degrees = £1/2 |CoHECKED BY: SH DATE: 1/10/13 [SHEET 3 OF 4 [SIZE
MARK WESTERFIELD, P.E. Unless Stoled Otherwise
DIMENSIONS ARE IN INCHES.| DWG. NO.: 104801 - A/B VER: TDM

FLORIDA P.E. #4B8495 NC P.E. #23832 TEXAS P.E. #91513

4 | 3



4 5 v 2 1

CLOPAY / IDEAL » HOLMES SHEET: REVISIONS
3717 £ CIX17 » — /A 276A 1. 75" THICK MINOR RIE 4 OF 4
* REV. NO.| ZONE: | DATE: CN NOQ. | APPVD: DESCRIPTION
3718 /S C7X18 » -—- S 276a 1. 75" THICK FLUSH = ©
3720 7/ C7X20 / 240U / 27GA 2" THICK MINOR RIB |02 - - - - S BEVSIDN MIEHORY Db SPRET. SRk
37ze L CO¥eeg , —- / 20GA 2 THICK FLUSH
3724 S C7X24 7/ 244U S 2464 2* THICK MINOR RIB
2" TRACK CONFIGURATION s
ORIZONTAL TRACK
DOORS UP TO BOOD LBS. SUPPORT BY DOOR
i INSTALLER (TQ SUIT). SOOR R AR
NOTE DOUBLE TRACK 2 DOOR COUNTERBALANCE SYSTEM T V! URATI
;IgﬁDRDOH, HI-LIFT TRACK, PR . _ i i ’ HE[G:;T" ;7{]" DOORS UP TO 800 _LBS. AMGLE MOUNT JAMB COMFIGURATION
LLOW-THE- ROOF a2 = YP JAMB (IF PRESENT;
TRACK, AND VERTICAL LIFT : 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7 -0"] 76" BRACKET MOUNT JAMBE CONFIGURATION é;g iwa NOFE{S ON SHEET 3)
TRACK ARE AVAILABLE JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 7 —6"] 82" " '
OPTIONS, AND TO TRACK WITH (2) 1/4" RIVETS. &-0"] 8a" 1" DOGR QVERLAP (EACH SIDE) T m—
TRACK CONFIGURATION 6" g4~ ™
DOES NOT APFECY THE© 5 g'—g" 133-- REQURED FOR. BRACKET ?; I::Tgit? é]TSELSlIEI]rI]{:IBLE END-STILE e I i
MOT AFFECT THE i AS ROD: SPACING NTE 14" Q.C. —w C . —ENL- - o SCREW SPACED AT THE SAME
WIND LOAD RATING. % 13,'3.. 1067 MO FASTENED WITH (1) #8 X 1/2" WAFER SCREW. L) DISTANCES AS THE TRACK BOLTS
x e Hg . PR (LE. 3—1/2" 10", AND EVERY
& 2 . . Te " 12"). ALSO TWO LAG SCREWS
2 = o i i 1101124 2-1/2" X 12 GA GALV. STEEL \Lgaﬂsu ABOVE VERTICAL -
| TRACK THICKNESS: 0.075". —6"T130"
i 1 L TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION,
— ; 12'—0"[136" WOOD JAMBS WITH 5/6" X 7/16" 1.D. ROUND
& 12'—6"[142" 1-5/8" LAG SCREWS NOT TO PUSH NUT 14 GA, Egﬂ-r‘g gEcrLc CEN}%R} H.-—_':gf
e VERTICAL TRACK TO BE BRACKET 13°-0"1148" EXCEED 14 ON-CENTER. FASTENER. Bl o) G WAt EACH
T MOUNT OR CONTINUOUS ANGLE 13-6"]154" EME #14x5/8" SHEET METAL SCREWS,
g (1-3/4"%2=1/4"<12 GA MIN.) 14'—0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
Z MOUNT. ALL BRACKETS/TRACK 14 —6-1166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
g CLIPS ARE 12 GA. GALV. STEEL. 15 —074172" 27 GALV. STEEL TRACK FASTENED TO
BRACKETS,//CLIPS ARE ATTACHED 15'-6"[178 12 GA GALV STEEL TRACK BRACKETS B .
TO TRACK WITH EITHER TWO 174" 15’—{]:I 184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DA, 7-1,/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLOMN TIRE.
RIVETS CR ONE 1/4" BOLT AND 16 —-6"[190" {1} 1/4" X 5/8" BOLT & NUT PER
NUT. 17 —0"[196" TRACK BRACKET. SECTION C-—C _ .
17 -6 202" LHR BRACKET (2-1,/2" x 5—.'5,-"'41. x 12GA)
18'-0"[208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/47 x 3/4" SELF TAPPING
SCREWS. MOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE" AS SHOWN IN {.
ZONE B-3 SHEET 1.
3" TRACK CONFIG
CONFIGURATION JAMB CONFIGURATION DOUBLE TRACK
DOORS 500 LBS AND OVER. DOORS 800 LBS AND OVER LOW HEADROOM OPTION
CENTER HANG REQUIRED FOR DOORS 800 LBS AND OVER (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OVER B' HIGH.
HEADROOM, HI-LIFT TRACK, e DOUBLE HORIZOMTAL
FOLLOW-THE— ROOF .. TRACK
TRACK, AND VERTICAL LIFT ) 1" DOOR OVERLAP (EACH SIDE) -
53,#‘?0”“;“ e ] 246 SYP JAMB (IF PRESENT; OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
TRACK COMFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB MOTES ON SHEET 3). “Sstwmtimtmmts 16 GA GALV. STEEL DOUBLE-END-STILE FASTENED
ABOVE THE DOOR OPEMING THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK A o 1 WITH (1) #8 X 1/2" WAFER SCREW,
DOES MOT AFFECT THE | MIN. ANGLE DIMEMSIONS 3—1/4" x 2-7/8". SUPPCRT BY DOOR i .
MDD LORE R, VERTICAL /HORIZONTAL TRACK 14" MAXIMUM SPACING T TALLER (TOSUM). 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED <
= bt ST Sl e Ll ] ANGLE. SEE LAG BOLT MOUNTING AT TRACK — 14 GA, GALY. STEEL CENTER HINGE
NUTS FOR EACH TRACK. K JUNCTI : :
& B EACH TRACK SLO CONFIGURATION BELOW. 7/16" 1.0, ROUMD FASTEMED TO SECTION W/(4) EACH
T PUSH NUT #14x5/8" SHEET METAL SCREWS.
g y ADDITIONAL MOUNTING SLOTS FASTENER,
g Tl 0.1017 THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END
I TO TAPERED AMGLE. TRACK ATTACHED TO STILES W/(4) EACH §14x5/8" SHEET METAL SCREWS
. —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2} 1/4" SELF TAPPING SCREWS PER END HINGE,
5 - NUT AT EACH MOUNTING SLOT.
u B 3" DIA B-1/2" LONG STEM BALL BEARING STEEL ROLLER.
% SECTION C—C ]HANuchunmﬁ PRODUCT CODE
] = "
, = 34" NE. Ji" TRACK BOLT AND MUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
oo, E MOUNTING SLOT LOCATION. DESIGN LOADS: -
L g LOADS: +37.0 P.SF. & —42.0 PSF. BART NO. N/
.y DOOR ]"'ERHCJ"L TEST LOADS: +55.5 PS.F. & -63.0 P.S.F. i
fenn h g HEIGHT [TRACK LEMGTH Unless Stated Otherwise | I}I aﬁss Der“g&uEmEEE WINDLDAD RATING
cary T o [ 7 pson, OH 4]
1 Ny TOLERANCES ore Ee] opay o5 $sE5 e ‘w.’ 6 D P 3 7 T
T 9 —0" | 55~ 0= +.03 Building Producls Compory Fox No. 513-770-4853
L. - . 2 - ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 : " 162"
: i . 10 -0 1 ; : = W TA
3 o et T 10 5.=2 1?55" DISTANCES AS THE TRACK BOLTS (LE. 3-1/2" 107, 22", 34" Gob = ooe DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
e Ty o SR 3-1/2" 14 -0 156" 46", ETC.). ADDITIOMAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN "ENGINEER:..- .~ # =1 16-07] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSOD LOCATED ABOVE Degrees = 21/2  [CHECKED BY- SH DATE: 1/10/13 |SHEET 4 OF 4 |SIZE
MARE WESTERFIELD,.,E.E.f_ﬁ - FRGMIEIRE TN 1?1—0 204,‘ VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stoted Olherwise - l
FLORIDA P.E. §48495, N& P.E. #23832, TEXAS PE. #91513  -18-01228 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104801 - A/B VER: TDI
4 % » 2 1



